Efficiency vs dr

1.2

x T
9 T
(n .
> B .
> - =
O L .
g T
<] [ :
£ 0.8
£ 09

0.6H

0.4

0.2f-|-4-
9 J..\.B
g
nd

0.951

1078 1072 107t

—'— DQM_V0001_R000000001__Global__mkFit100Timeo__RECO
—— DQM_V0001_R000000001 Global mkFIthOTlme RECO

1
TP min AR

[ Efficiency vs dr (track,jet) |

0.8

0.7

0.6

0.5

0.4

efticiency vs AR(TP, jet

0.3

0.2

0.1

Vs

Ratio
N

107 1072 107

AR(TP, jet)

Efficiency vs pu

0.8

T
S T R
o gl
o
e ——

LT S S T e S

o] n
o u
” o
> C
> -
) o
2 o
) n
o o
F= »
q" -

0.1+

o 1.0 [
2 L
] [
o L
1

0.95
2

(=]



	Contents
	Page 1


